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D AE JIE2Z 28X=56t=0l g0l 228 BE JIELZ 2EX&E0= X
1) A12, B:11
2) A:12, B:13
3) A:15, B:11

> BIIECE EEET
1) A2, B:11
3) A:15, B:11
2) Ax12, B3
> A7|ESZ oEEE
1) A2, B:11

2) A:12, B:13
3) A:15, B:11

* QHEHAES 0|85HA 22Y A0l 20tx (1->2)=ME 26X &0t (2-1-3)2=2 82 =+ UL
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1) mul:24, sum:9, num: 1
2) mul:6, sum:5, num: 4
3) mul:6, sum:5, num: 3
4) mul:24, sum:9, num: 2
5) mul:5, sum:7, num:5

-= num 7| TS 2 OrEEE

1) mul:24, sum:9, num: 1
4) mul:24, sum:9, num: 2
3) mul:6, sum:5, num: 3
2) mul:6, sum:5, num: 4
5) mul:5, sum:7, num:5

-> sum /=22 EEE

3) mul:6, sum:5, num: 3
2) mul:6, sum:5, num: 4
&) mul:5, sum:7, num:5
1) mul:24, sum:9, num: 1
4 mul:24, sum:9, num: 2

> mul 7|E22 ENE

5) mul:5, sum:7, num:5
3) mul:6, sum:5, num: 3
2) mul:6, sum:5, num: 4
1) mul:24, sum:9, num: 1
4y mul:24, sum:9, num: 2
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#include <stdio.h>

#include <stdlib.h>

#define MAX 100

#pragma warning(disable:4996)

typedef struct Infor {

int mul; // B2 &
int sum; // M2 g
int num; // M2 S#HSE

}Infor;

Infor sorted[MAX];

/] BEEE (B &)

void merge( Inforx list, int left, int mid, int right, int code) {

int i, j, k;

i = left; // LEZ Parte| Al&F 9[x

j=mid+1; /] &% Parte] Al=F 2K

k = left; // HEE 2|AEQ| AlEF 2%

/] B2 =Mz g (REZE or 2Z Part7t ME =ZAHE m{7hx])
while (i <=mid & j <= right) {

if (code =0)1{// s 72lz2c=z gH
if (listl[il.mul <= list[j].mul)
sorted[k++] = list[i++];

else

sorted[k++] = list[j++];

}
else if (code == 1) { // suns 7|E22 2H
if (list[i].sum <= list[j].sum)
sorted[k++] = [ist[i++];
else
sorted[k++] = list[j++];
I3
else { // nums 7|&E2=2 2y
if (list[i]l.num <= [ist[j].num)
sorted[k++] = list[i++];
else
sorted[k++] = list[j++];
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for (int idx = j; idx <= right; idx++)
sorted[k++] = list[idx];

)3
/] 22 24 L AL (21F Part)
else {
for (int idx = i; idx <= mid; idx++)
sorted[k++] = list[idx];
)3

// sorted BHIY &S Iist2 SA}
for (int idx = left; idx <= right; idx++)
list[idx] = sorted[idx];
}

void merge_sort(Infor* list, int left, int right, int code) {

int mid;

[/ widel A7t 20]AkY W ==

if (left <right) {
mid = (left + right) / 2;
merge_sort(list, left, mid, code);
merge_sort(list, mid + 1, right, code);
merge( | ist, left, mid, right, code);

}

}

int main() {
/] Mol Y
int n=20;

scanf("%d", &n);

int* b = (intx)mal loc(sizeof(int)=*n); // M=ol SHS
int*x p = (int*)mal loc(sizeof(int)*n); // BIE &5 &H=F
intx g = (int*)malloc(sizeof(int)*n); // AUlE 5 HFe
int* r = (intx)malloc(sizeof(int)*n); // EHE 55 H=
// 24

for (int i =05 i <n; i++)

scanf("%d %d %d %d", &b[i]), &plil), &(alil), &(rl[i]));

// infor B AN

Infor* infor = (Infor*)malloc(sizeof(Infor)=*n);

for (int i =0; i <n; i++) {
infor[il.mul =pl[i] = qli] = r[il;
infor[il.sum = pli]l + qlil] + r[il;
infor[i].num = b[i];

}

/| EHZE 7|Z2Z infortid ¥
merge_sort(infor, 0, n -1, 2);

NK“WIE§|$9§|Mm%““%
fo

merge_sort(infor, 0, n -1, 1);

/] 3o 52 7|FE2Z infortigE M&H




merge_sort(infor, 0, n -1, 0);

/] &,2,8 4 &4

y ©

printf("%d %d %d#n", infor[0].num, infor[1].num, infor[2].num);
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